
West Bengal Polytechnic Entrance Examination JEXPO 2011 
Mathematics  Questions Papers  

  

1.      8 জন         12 জন              জ 30    ন                   4 জন      ও 9 জন        ঐ   জ 

              - 

(a) 18    ন        (b) 24              (c) 20    ন         (d) 15    ন 

  

2.       x = 2t² ও y = 2t + 1 হয়,      x ও y -              হ   - 

(a) 2x = (y + 1)²        (b) 2x = (y - 1)²        (c) 2y = (x - 1)²        (d) 2y = (x + 1)² 

  

3.       x + y = 5xy      হয়,    হ   y -     ন হ  - 

(a)          (b)         (c)         (d)  

  

4.  ABCD                জয়       AD ও BC                  ।     ∠ABC = 85° হয়,      ∠BCD -   

  ন হ  - 

(a) 85°       (b) 95°       (c) 90°       (d) 105° 

  

5.  Δ ABC -         G ।      Δ ABC -         66         Δ GBC -         হ   - 

(a) 33                 (b) 22                 (c) 11                 (d) 44         

  

6.        হয় ,    হ    -     ন হ   - 

(a)         (b) 1        (c) 0        (d)  

  

7.   B -      ন A -      ন       20%          C -      ন B -      ন       25%   ,  C -      ন 

    A -       ন   ন     হ   - 

(a) 10 : 9         (b) 9 : 10         (c) 5 : 4        (d) 2 : 3 

  

8.   x ও y             .  .   ও   .  . .        2     16  ।      x + y = 18 হয় ,      -     ন হ   - 



(a)         (b)          (c) 8        (d)  

  

9.        হয়,   হ    -     ন হ   - 

(a) p²       (b) p       (c) - p²        (d) - p 

  

10.   ABC      জ AB = AC     E, F        AB ও AC               । AD, BC      উ       ।     AD = 

2√5     .     EF = 4     . হয়,   হ   AB -         হ   - 

(a) 7             (b) 4             (c) 6             (d) 5      

  

11.                                  ।                  য়        7          4      ।                

     হ   - 

(a) 5            (b) 3            (c) 2             (d) 3.5      

  

12.       হয় (x, y, z           ),   হ   (x + y + z)²      ন 

হ   - 

(a) 6       (b) 0        (c) 4         (d) 3 

  

13.       A -   40% = B -   0.50 = C -             হয়,   হ   A : B : C হ   - 

(a) 5 : 4 : 10         (b) 5 : 20 : 4         (c) 5 : 4 : 20         (d) 4 : 5 : 20 

  

14.        হয়,    হ   x -     ন হ  - 

(a) 8, -1        (b) 8, 1        (c) -8, 1        (d) -8, -1 

  

15.           জ                   14,      জ             হ  - 

(a) 5        (b) 9        (c) 7        (d) 8 

  

16.    হ    -     ন হ   - 



(a)          (b)          (c) 1         (d)  

  

17.         -          হ          হ  

(a) 0        (b)           (c)          (d)    ন   নয় 

  

18.             হয়,     k -     ন হ   

(a) 2      (b)         (c) 3       (d)  

  

19.        হয়,       -     ন হ   

(a) 0       (b) 1        (c) - 2        (d) 2 

  

20.   -     ন হ   

(a)         (b)         (c)         (d)  

  

21.       হয়, 

                  ন হ   

(a) 0      (b) - 1       (c) 1       (d) 2 

  

22.      x, y  ন                 

          হয়, 

     -     ন হ   

(a) 0       (b) - 1       (c) 1       (d) 2 

  

23.  Δ ABC           O ।     ∠ BAC = 85°     ∠ BCA = 75° হয়,     ∠ AOC -     ন হ   

(a) 40°        (b) 105°      (c) 150°      (d) 285° 

  



24.  Δ ABC -   AB ও AC -                  X ও Y;  BC + XY = 12     হ  , BC - XY -     ন হ   

(a) 8          (b) 3           (c) 4 একক        (d) 6     

  

25.  ABCD                জ,     ∠ DBA = 50°     ∠ ADB = 33°,  ∠BCD -     ন হ   

(a) 82°      (b) 83°      (c) 84°      (d) 85° 

  

26.  Δ ABC -   ∠ ABC = 90°     AB = 6 cm,  BC = 8 cm,     Δ ABC -              হ   

(a) 6 cm        (b) 5 cm       (c) 4 cm        (d) 3 cm 

  

27.           জ    ন                    10     , 8          6       ।  উহ                    হ   

(a) 7 cm       (b) 5 cm        (c) 4 cm       (d) 3 cm 

  

28.                     ও                 ও আয় ন    ন ।       উ      ন     হ   

(a) 1 : 2      (b) 1 : 3       (c) 2 : 1       (d) 3 : 1 

  

29.   হ    -     ন হ   

(a)        (b)         (c)       (d)    ন   নয় 

  

30.                 আ                          77                    ।                        হ   

(a) 38.5                (b) 39.5                 (c) 36.5                 (d) 37.5          

  

31.            ও                                  ন ।        ন  ও    ন হ                  ও উ     

 ন     হ   

(a) 3 : 4       (b) 4 : 3       (c) 2 : 3       (d) 3 : 2 

  

32.    ন                   ন     2 : 3 : 4 হ                  ন     হ   

(a) 2 : 3 : 4       (b) 4 : 9 : 16       (c) 8 : 27 : 64       (d)    ন   নয় 



  

33.  Δ ABC              ,   হ   C -   

  ন হ   

(a) 45°      (b) 60°      (c) 75°      (d) 30° 

  

34.  22°30’ -       য়   ন হ  - 

(a)         (b)       (c)        (d)  

  

35.  (- 6, - 4)          ন            ? 

(a)                (b)                  (c)                  (d)     য়     

  

36.      u > v হয়     (u - v)(y - z) < 0 হয়,   ন - 

(a) y > z       (b) y < z       (c) y = z       (d)    ন   নয় 

  

37.   ন        জ     জ                  - 1    2,  2     3,  2     6,  4     9, 10     12, 11     22, 13 

    39,                        জ             হ  - 

(a) 1    2,  2     3, 11     22 

(b) 1এ   2,  2 এ   3, 4 এ   9 

(c) 1    2, 2     6, 10     12 

(d) 2     3, 10     12, 13     39 

  

38.  ন                     ,   ,  ,    হ          হ - 

(a)         (b)        (c)         (d) 0.27 

  

39.        ন                - 

(a) 1      (b) 2       (c) 3       (d) 4 

  



40.      ,   ,      হ  - 

(a) x < y < z       (b) z < y < x        (c) y < z < z       (d) x < z < y 

  

41.              56               29             । ঐ         8                      হ  - 

(a) 3       (b) 4       (c) 5       (d) 6 

  

42.  A : B = 4 : 6,   B : C = 8 : 10,   C : D = 6 : 5 হ   A : B : C : D হ  - 

(a) 1 : 2 : 3 : 2        (b) 6 : 4 : 3 : 5       (c) 16 : 24 : 30 : 25       (d) 4 : 6 : 5 : 7 

  

43.               16 জন                জন     ন                   য় জন হয় ।   য় জন       ন      

          ন      ন           4 : 3  ন         হ  ।  ন                   - 

(a) 12       (b) 4       (c) 3       (d) 8 

  

44.                         x          ।                     ও জ        ন     4 : 11 হ  ,               
               হ   - 

(a)                 (b)                  (c)                 (d)           

  

45.         12% হ            য়     ন          ন 3             784      হ   ।        হ      ন     - 

(a) 558             (b) 550             (c)             (d) 600      

  

46.     ন      ন                a%     b%       ন ।                     য় - 

(a) (a + b)%       (b) %       (c) %        (d) % 

  

47.  30                   হ     ন    হ   ।       হ   হ   - 

(a) %       (b) 10%        (c) 15%       (d) 6% 



  

48.  m            n          ন       জ           ।  ন       ন         ? 

(a) mn              ক       (b)                       (c) m + n                       (d) m - n 

               

  

49.    ন                   ও     য়        ন                           হ   - 

(a) 9      (b) 90        (c) 100        (d) 729 

  

50.     ন      জ        হ              য়       4     . , 6          8     . হ  ,   হ                হ   - 

(a) 6             (b) 9            (c) 12             (d) 16      

  

51.  Δ ABC      জ  ∠A + ∠B = 135°     ∠C + 2∠B = 180° ,    - 

(a) CA > AB      (b) CA = AB       (c) CA < AB       (d)    ন   নয় 

  

52.  Δ ABC      জ  AB ও AC     য়         E ও F                হ   ।     OB, OC        ∠EBC ও 

∠FCB                    ∠A = 40° হয়, ∠BOC হ  - 

(a) 20°       (b) 40°        (c) 50°       (d) 70° 

  

53.  A BCD       AB            4          ∠BCD = 60° । BD          হ  - 

(a) 5             (b) 6             (c) 4             (d) 8      

  

54.                 জ         ন          ন     1 : 2 : 3,     য়          হ                ন     হ  - 

(a) 1 : 1       (b) 1 : 2       (c) 2 : 3       (d) 2 : 1 

  

55.                           হ           ন                ন        উহ                       হ  - 

(a)          (b)            (c)   ন        (d)     

  

56.                    15.4      । উহ                    হ  - 

(a) 4             (b) 4.9              (c) 5             (d) 5.1      



  

57.               জ                          উ         হ   উহ              ন     হ  - 

(a)         (b)         (c)        (d)  

  

58.        ন                ও উ    8, 3(h - 1)         12, (h + 5)     ।                 ন      ন হয়, 

    h -     ন হ   - 

(a) 9       (b) 12       (c) 17       (d) 19 

  

59.                   ও উ    100%              আয়  ন       হ  - 

(a)             (b)   ন          (c)  য়         (d)      

  

60.       ন  ও                              ন হ  ,  ন              আয়  ন   ন     হ  - 

(a)        (b)        (c)         (d)  

  

61.  sin 18° = x     cos 36° = y হ   tan 72° -     ন হ  - 

(a)        (b)        (c)         (d)  

  

62.        হ    ও  -     ন        - 

(a) 60°, 30°       (b) 30°, 0°       (c) 60°, 0°       (d) 30°, 45° 

  

63.  K -         ন  জন  2x + 5y = 8     2x - Ky = 3 -      ন      ন       ন ,    হ - 

(a) + 5       (b) - 5       (c) + 6       (d) - 6 

  

64.          x      y  য়  য়  য়    য়  y      x  য়  য়    য়     হ           z          হ  - 

(a)        (b)        (c)        (d)  

  



65.   -     ন হ  - 

(a)       (b)        (c)        (d)  

  

66.              য়     25                      য় 20                    ।         40             জন  
                হয়         30     ,           20                                    হ       

  ন হ  - 

(a) 37      (b)       (c) 38      (d)  

  

67.      x + y = 2z হয়,      = ? 

(a) 0       (b) 1       (c) - 1      (d) 2 

  

68.      আয়                  30479.805         ।                    হ  ,       হ  - 

(a) 246       (b) 246.9       (c) 247       (d) 245.9 

  

69.  7’3.4”                 7.11”                        হ  ।                        হ  - 

(a) 2”      (b) 2.8”      (c) 2.08”      (d) 3” 

  

70.            হয়,       হ  - 

(a) 0      (b) 1       (c) 2      (d) 3 

  

71.         জ        11  আ   ।                   11    ন       । ঐ                 ন        

             ,         জ   ন হ  - 

(a)                (b)              (c)                (d)        

  

72.  2200           ন       হ  - 

(a) 365       (b) 366        (c)        (d)  



  

73.                      ও    ন                     ন    - 

(a) 1 : 5       (b) 1 : 12       (c) 3 : 4       (d) 5 : 12 

  

74.  ABCD           জ  ।  AC -               DE   ন     হ           BC    E                  ।   হ   

(a)       জ ABCD -        > Δ ABE -        

(b)         ABCD -        = Δ ABE -        

(c)       জ ABCD -        < Δ ABE -        

(d)    ন   নয় 

  

75.  a² - [(b - c)² - {c² - (a - b)²}] -           ন হ  - 

(a) 0      (b) 2a(a + b - c)       (c) 2b(a - b + c)       (d) 2c(b + c - a) 

  

76.  24                         জ-                         উ    26√3      হ      আয় ন হ  - 

(a) 1248  ন            (b) 416 ঘ              (c) 624  ন             (d) 832  ন      

  

77.                           য়                    346.5      ন      ।                        88 

     হয়,        হ                  [     য়  ] 

(a) 17  ন             (b) 18  ন             (c) 17.5 ঘ              (d) 22  ন      

  

78.        ন A    ন      B     ন    ,                         ।                য়  n      য়  ন য় 

    ,   হ   n -     ন - 

(a)         (b) 7      (c)        (d) 9 

  

79.   -           ন হ - 

(a) 1      (b) - 1       (c) 2       (d) 0 

  



80.             য়     ন     5: 9       জ ন   য়   ন জন       36          ।        য়         হ   - 

(a) 72            (b) 126  ছ         (c) 180           (d) 162     

  

81.     ন                       24     .                 120         ।                        - 

(a) 12            (b) 13            (c) 13.5             (d) 14      

  

82.  ABC              জ  AB = AC  ।  BC    উ   P      ন          । P           AB ও AC -   উ   

                       x ও y ।     B      AC -   উ                   z হয়,   হ   - 

(a) z < x + y       (b) z = x + y       (c) z > x + y       (d)     ন     নয় 

  

83.  ABC      জ          O ।     ∠ BOC = 119° হয়     ∠ BAC -     ন হ  - 

(a) 61°        (b) 59.5°       (c) 60°       (d) 58° 

  

84.   -           ন- 

(a) 5       (b) 1        (c) 10        (d) 15 

  

85.   -           ন- 

(a) 8       (b) 9       (c)         (d)  

  

86.               ওয়  হ  - 7x - 5y - 4 = 0     28x - 20y = 16 ।   হ   - 

(a)                                        ন       

(b)                                         ন       

(c)                                        ন       

(d) এ             , এ     ক            ক      

  

87.  ABCD আয়                 R     ABEF                      P,          AB                 

     AB ও DE -          য়  ন ।   হ   - 

(a) R = P        (b) R > P        (c) R < P      (d)    ন   নয় 



  

88.         হ                          হ    ও                       R          r      ।    হ   আয় ন হ  - 

(a)   ন     .        (b)   ন     .        (c)   ন 

    .       (d)  ন     . 

  

89.            হয়,           ন হ   - 

(a)         (b)         (c) 0      (d) 1 

  

90.                জ                     ন      য়   হ  ,               হ  - 

(a) 12       (b) 6        (c) 8       (d) 10 

  

91.         ন   জ                 876 হ     হ    হ  - 

(a) 292        (b) 294        (c) 296        (d) 298 

  

92.  xy (1 + z²) + z(x² + y²) y + zx    য়                       - 

(a) x + yz        (b) 0       (c) y - zx        (d) x - yz 

  

93.  x, y -        60%        z -        30%    । y : z -     ন- 

(a) 2 : 1       (b) 1 : 2       (c) 16 : 13       (d) 13 : 16 

  

94.  1              ও 1      উ              ন                 য়, 1     .         ও 1      উ          

  য়                হ  ।            হ  - 

(a) 300      (b) 3      (c) 3000       (d) 30 

  

95.  ABC      জ  AD           ।     AB² + AC² = p.(BD² + AD²) হয়,     - 

(a) p = 2      (b)        (c)        (d) p = 3 



  

96.   -           ন- 

(a)        (b)       (c) 7      (d)  

  

97.  A, B     C                       36,400              । A ও B -        ন   ন     5 : 3     B ও 

C -        ন   ন     5 : 4 হ   B -          হ  - 

(a) 15,500              (b) 17,500            (c) 12,500             (d) 10,500   ক  

  

98.  50        ন  ও                    80%    ন  আ   । 95%    ন        হ   ঐ            আ ও    

          ন         হ   ? 

(a) 45            (b) 150            (c) 15            (d) 50     

  

99.                   হ             x   , হ  - 

(a) - 2       (b) - 1        (c) 0       (d)  ক        

  

100.    ন        উ         30°,     উ          য়            . ।       উ   - 

(a) 81         (b) 54           (c) 162           (d)     

 


